
(𝑥 + 2)(𝑥 + 3) =

(𝑥 + 2)(𝑥 + 3) =

𝑥ଶ + 3𝑥 + 2𝑥 + 6 =
        𝑥ଶ+5𝑥 + 6

F  - multiply First numbers in brackets
O - multiply Outside numbers in brackets
I   - multiply Inside numbers in brackets
L  - multiply Last numbers in brackets

Combine like terms.

(𝑥 + 2)(𝑥 + 3) =
𝑥(𝑥 + 3) + 2(𝑥 + 3)
𝑥ଶ + 3𝑥 + 2𝑥 + 6
        𝑥ଶ+5𝑥 + 6

Alternative Method: 

2𝑥 − 1

𝑥
+
2

×
(2𝑥 − 1)(𝑥 + 2)

2𝑥ଶ + 4𝑥 − 𝑥 − 2

   2𝑥ଶ  +  3𝑥 − 2

Algebra Tiles

"FOIL" Method

= 𝑥
= −𝑥

= 1
= −1

= −𝑥ଶ= 𝑥ଶ

−(𝑥 + 2)(𝑥 + 4)
−(𝑥ଶ + 4𝑥 + 2𝑥 + 8)
−(𝑥ଶ + 6𝑥 + 8)

  −𝑥ଶ − 6𝑥 − 8

FOIL
Combine 
Like Terms
Distribute

(𝑥 + 3)(𝑥ଶ − 2𝑥 + 8)

(𝑥 + 3)(𝑥ଶ − 2𝑥 + 8)

𝑥ଷ − 2𝑥ଶ + 8𝑥 + 3𝑥ଶ − 6𝑥 + 24

𝑥ଷ + 𝑥ଶ + 2𝑥 + 24

(𝑥 + 2)(𝑥 + 3) =
    𝑥ଶ+5𝑥 + 6

Multiply and combine like 
terms in the same step.

(𝑥 + 2)ଶ

(𝑥 + 2)(𝑥 + 2)
𝑥ଶ + 2𝑥 + 2𝑥 + 4

𝑥ଶ + 4𝑥 + 4

2(𝑥 + 4)(𝑥 − 1)
2(𝑥ଶ − 𝑥 + 4𝑥 − 4)
2(𝑥ଶ + 3𝑥 − 4)

2𝑥ଶ + 6𝑥 − 8

         (𝑥 + 1)(𝑥 + 2)(𝑥 − 3)
(𝑥ଶ + 2𝑥 + 1𝑥 + 2)(𝑥 − 3)
          (𝑥ଶ + 3𝑥 + 2)(𝑥 − 3)
                        …

  +(𝑥 + 3)
+1(𝑥 + 3)
     𝑥 + 3

  −(𝑥 − 2)
−1(𝑥 − 2)
     −𝑥 + 2

(𝑥 − 2) − (𝑥 + 1)(𝑥 − 3)
    𝑥 − 2 − (𝑥ଶ − 3𝑥 + 𝑥 − 3)
    𝑥 − 2 − (𝑥ଶ − 2𝑥 − 3)
    𝑥 − 2 − 𝑥ଶ + 2𝑥 + 3

          −𝑥ଶ + 3𝑥 + 1

2(𝑥 + 3)
  2𝑥 + 6

(𝑥 + 4) + 2(𝑥 − 1)
  𝑥 + 4 + 2𝑥 − 2

          3𝑥 + 2 

5 − (𝑥 − 2)
  5 − 𝑥 + 2

Legend

Quick Method

Distribute
Multiply Don’t Distribute

the 5

(𝑥 + 2)(3)
  3𝑥 + 6

Expand and Simplify Backwards DistributionNegative Distribution

Expand and Simplify

FOIL
Combine
Like Terms

Check
by FOIL

Expand and Simplify

FOIL
Combine
Like Terms
Then Triple FOILTriple FOIL

Combine
Like Terms

Distribute
Combine 
Like Terms

FOIL
Distribute
Combine
Like Terms

Check Answer Pick an Arbitrary 𝑥 𝑣𝑎𝑙𝑢𝑒
Substitute into question and answer
Must be equal!

𝑥 = 3∗

2(𝑥 + 3)
2((3) + 3)
12

2𝑥 + 6
2(3) + 6
12

Every single 
question you 
ever do!
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